Dezimalzahlen multiplizieren (mit 10, 100 oder 1 000) [1]

Dezimalzahlen

Aufgabe 1 Aufgabe 2

. 137 « 1000 = 1. 330 « 1000 =
2. 547 « 100 = 2. 1,78 « 1000 =
3. 356 ¢ 100 = 3. 191 « 1000 =
4. 1,69 ¢ 1000 = 4. 3,20 « 1000 =
5 3,42 - 1000 = 5 688 « 100 =
6. 851 « 1000 = 6. 651 « 1000 =
7219 « 1000 = 7.o212 < 10 =
8. 941 « 1000 = 8. 930 « 100 =
9. 456 « 1000 = 9. 132 « 100 =
10. 913 < 1000 = 10. 690 « 100 =
Aufgabe 3 Aufgabe 4

1. 732 « 100 = . 170 o 10 =
2. 1,67 « 1000 = 2. 386 ¢ 1000 =
3. 1,48 « 1000 = 3. 4,24 - 100 =
4. 244 « 100 = 4. 8,64 e+ 1000 =
5 270 « 10 = 5 310 « 10 =
6. 1,14 « 100 = 6. 6,48 « 100 =
7. 552 e« 1000 = 7. 628 « 10 =
8. 570 « 10 = 8. 897 « 1000 =
9. 4,60 « 100 = 9. 589 < 1000 =
10. 2,45 « 1000 = 0. 480 « 10 =
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Dezimalzahlen multiplizieren (mit 10, 100 oder 1 000) [1] |
ANTWORTEN

Dezimalzahlen

Aufgabe 1 Aufgabe 2
1. 137 o 1 000 = 1370 1. 330 1 000 = 3300
2. 547 e 100 = 547 2. 1,78 e 1000 = 1780
3. 356 100 = 356 3. 191 e 1 000 = 1910
4. 1,69 o 1 000 = 1690 4. 320 1000 = 3200
5. 342 - 1 000 = 3420 5. 688 e 100 = 688
6. 8,51 . 1 000 = 8510 6. 651 o 1 000 = 6510
7. 2,19 o 1 000 = 2190 7. 212 o 10 = 21,2
8. 9,41 o 1 000 = 9410 8. 930 o 100 = 930
9. 456 e 1 000 = 4560 9. 132 » 100 = 132
10. 913 - 1 000 = 9130 10. 690 o 100 = 690
Aufgabe 3 Aufgabe 4
1. 732 e 100 = 732 1. 7,70 e 10 = 77
2. 1,67 o 1000 = 1670 2. 386 1000 = 3860
3. 1,48 1000 = 1480 3. 4,24 o 100 = 424
<. 244 o 100 = 244 4. 8,64 o 1000 = 8640
5. 270 e 10 = 27 5. 310 - 10 = 31
6. 1,14 o 100 = 114 6. 6,48 o 100 = 648
7. 552 - 1000 = 5520 7. 6,28 o 10 = 62,8
8. 570 - 10 = b7 8. 897 e 1000 = 8970
9. 4,60 o 100 = 460 9. 589 - 1000 = 5890
10. 2,45 o 1000 = 2450 10. 480 o 10 = 48
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